
Step Five Profile 

I know that 56 x 38 is 
about 2400 and  I use 
my calculator if I want 

an accurate answer.

I can work out 
1.92 m + 2.463m and 

3 kg – 256g .

I work out 25% of 80 by 
finding one quarter of 80.

I know 68.199 comes before 68.2 

I know 2.63 has 26 tenths and 
3 hundredths

I know 6789 ÷ 65 is about 
100 and I use my 

calculator if I want an 
accurate answer.

I know that  1/5  is 20%, so 4/5    
is 80% .  I know 25% is bigger 

than 0.2

I know 7.3 x 100 = 730 and 
0.25 ÷ 10 = 0.025
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